Kaprouka W 1

l-BapuaHT
BcTaBp HYXHOE UMCJIIO.
7= 7 3 7 = 49
7 =9 7o = 14 63 =7
7 28 56 =7 7 = 35

Kaprouka W 1

2-BapMaHT
BcTaBp HYXHOE UMCJIIO.
7 - .. = 63 28 : ... =17 w 7 =25
. = 56 42 =7 : 7 =28
4 7 21 7 7 14

Kaprouka W 2

l-BapMaHT
Peun npuMeps:
8 - 7 6 - 7 63 : 7
35 7 56 : 8 9 - 7
) 35 7 3 -7
28 7 7 - 8 28 : 4

Kaprouxka N 2

2-BapMaHT
Pemr npuMepErr:
14 : 7 21 : 3 42 7
7 - 8 8 - 7 63 7
28 7 2 7 28 7
56 : 7 14 : 2 49 7

Kaprouxka N 3

l-BapuaHT
CpaBHM:
7o 7 % 5 -7 56 7 * 28 4
63 7 * 14 : 2 49 7 * 28 7
8 -7 * 6 -7 14 7* 21 7
28 : 7 * 56 : 8 49 7 o* 14 2
Kaprouxka N 3
2-BapMaHT
CpaBHM:
9 -7 *7 -9 42 7 * 56 : 7
63 : 9 * 28 : 7 28 + 7 * 35 : 5
7o 6 * 7 -7 42 : 7 * 35 7

21 7 * 28 7 7o 7 * 7 -5
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